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Lt mwn: nkmv discovered after 77
a. If: the body of the noa was &nv (07 NRMY) — the p>¥ achieves acceptance (nx7n)
i. Only if: he found out after 7”n7r - if he found out before, not accepted
ii. Challenge: y'x achieves %" whether inadvertently or intentionally
iii. Answer (8227): “inadvertent/intentional” refer to process of becoming xnv
iv. Alternate (89w 7): “inadvertent/intentional” refer to 7”11 — (question remains)
v. Answer2: inference is incorrect; even before 7”171=> nx1n
vi. Justification: written to contrast with 9’0 — qun nkmv even if found after, nymn 8>
b. But if: the donor is 8nv — the Y doesn’t achieve nx
i. If: that nRmv is pav ("DINN NRMY”) — the P> achieves nx"
1.Question (n1727): does the leniency of mnnn nrmMv extend to 0> (i.e. is leniency R1a3-driven or nar-driven)
2. Answer (827): proof from statement of X»n "7: “mnnn nkMY only applies to nn nrnv”
3.Implication: not 7w NRMY — must refer to 113
a) Cannot be: 71, as per v1; can’t be 0'9v1 if we hold yIw 8nv Yy PP pomw
b) Therefore: mynnn nrkmv is allowed for nnn3 as well
4.Rejection (9o *): implication of ®»n "v's statement is to exclude mynn (pav) of nar
5.Challenge: evidently a 127p brought by ar pav is accepted
a) Source: oV "V's ruling that »»15 0y nmw who brings and then has another n»”x&1 —117p is accepted
i. Assumption: because at time of 7”111 she was a pav
6.Defense: reason DY T2 DY NIMVY is accepted — the “sightings” don’t link
a) ’p» 7. only allows for nar if flow is constant or on subsequent evenings during mwnwn pa
7.Challenge: *ov "1 holds that a a1 creates retroactive 2w1m 25wn nkMY when he sees #3
8.Response: this y19n% n®mv is rabbinic (X'YWIR "1 as well, from conversation with jany ")
ii. Dy 715 87N ’7's statement must be excluding y1v (thereby including 0103 in the leniency of mnnn nxrmv)
1.Rejection: »o1 1 holds Ppmm pomw pr for a p7v RnY; NN NRMY only applies to wYva (only nn nrmv)
iii. Tangent: 113 performing 10N vis-a-vis DN NRMY
1. 427 certain nkn, which doesn’t trump noy, trumps NN, ¥"p=>DINNN NRMY, which trumps noy, trumps RN
a) Challenge: we cannot build a v’p from received tradition (i.e. D¥nn nNxrNV)
b) Rather: we infer it from noa via yIyn<& >11yn
iv. Source: for allowance of mnn nRMY
1. o9y 7z R = v1; 1Ny 1 — v2 - implication is total clarity of obstacle/nxrnyo
2.57aw7. 711 just like the road is clear, similarly the nxmv
3.Challenge (to all 3): ;yAnN NXMY has to be unknown to everyone in the world
a) ~”7 he should have to know
b) 7211 77 2 should have to know
) 57awr. everyone should have to know
4.Rather: it is a Rn2Yn, the verses serve as RNINOR
V. PN ’7 72 72 Dnnn kML is only valid if he found out after np»r
1.Challenge: if a nn is found width-wise on a road, offerer of nva is 71V (implication — even for future)
vi. 22wK 77 72 71: certainly after 7071, even if he found out before 1”071, valid
II. Revisiting the found body on the road:
a.Only: xnv for nmn if there was nowhere else to pass and the body wasn’t in separate places
i. But:if in grave, the grave unites the pieces
ii. Ifriding: Rnv (unlike walking, where he could have passed between the pieces)
1.Note: only true if no one knew if there was a body there (mynnn nxrmv);
a) Had to be: found in place where no one could have seen him (e.g. under dirt; not water or in the dark)
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